R.M. ENTERPRISE

Exclusive Interior Decorator 22/1H/9/3, Bright Street, Ground Floor, Kolkata - 700 017

Mobile-99	03707201,9038388050, Email	-rmenterpri	sesoffical.co	m, GSTIN	I- 19ABLPIC	471R1Z1,	PAN NO-A	BLPI0471R		
	Invoice No			·	Dated					
R M EN	ACK-30-09-24				17/09/2024					
B/22/1/H	Delivery No	ote-along	with PO an	d balance	Mode/Terms of Payment-50%					
	S, KOLKATA-700017		50%				ADVANCE			
	JIN: 19ABLPI0471R1Z	1	within 30 c							
	ame : West Bengal, Cod		Completion							
Olaic IV	ame : West Bengal, eed	C . 13	submission of invoices							
			Reference	No. & Dat	e.		Other References-Projects kol			
							irish house bar			
			Work Ord	der No./F	Po no-		TFSKPL/F	PO/24-25	/000148	
	TRAVEL FOOD SERVICES KOLKATA PRIV. 3 C, N.S.C.B.INTERNATIONAL AIRPORT,			Dat	ted-			17/09/20	24	
NAZRUL ISL	AM SARANI, DUM DUM, K BENGAL- 700052	OLKATA WEST	Dispatch D	oc No.			Delivery N	ote Date		
	Comp GST No : 19AAECT8193L1ZJ									
,	TRAVEL FOOD SARVICES KOLKATA PRIVA te No. 3 C, N.S.C.B.International Airport V		Dispatched	l through			Destination			
63, Ga	Kazi Nazrul Islam Sarani, Dum Dum,	rip Roau,	Cost Center Code : 90360001							
	Kolkata, West Bengal, 700052		Cost Center Code : 90300001 Cost Center Name : KOL IRISH HOUSE BAR							
	Comp GST No : 19AAECT8193L1ZJ		Project ID : PO Category : COPEX NSO							
									T	
SI	Description of	HSN/SAC	Quantity		Rate				Amount	
No.	Goods									
1	Single Seater Sofa (solid wood finish with lacquer polish finish)	9954	5		25000				125000.00	
2	Double Seater Sofa (solid wood finish with lacquer polish finish)	9954	3		48000				144000.00	
	,									
3 Center Table Wooden		9954	3		10000				30000.00	
CGST 9%		9%						26910.00		
SGST 9%						26910.00				
	Grand Total					352820.00				
			1							
HSN	I/SAC 9954	Taxable	Rate	CGST			SGST			
	Value				Amount Rate			Amount		
Tay Amaii	Total	53820.00		9% 26910.00 9% 26910.00				910.00		
	nt (in words) : Indian Rupee:			nousand 6	eigni nunai	ea twenty	Uniy			

Declaration- Mrunal joshi -8399081380, Binu Balachandran

We declare that this invoice shows the actual price of the goods described and that all particulars are true and correct.

Purchase Order

TRAVEL FOOD SERVICES KOLKATA PRIVATE LIMITED

Order Number: TFSKPL/PO/24-25/000148

		*			
Supplier Detail	Shipped Location	Invoice Location			
RM ENTERPRISES	TRAVEL FOOD SERVICES KOLKATA PRIVATE LIMITED	TRAVEL FOOD SERVICES KOLKATA PRIVATE LIMITED			
Supplier Code : RV232419765 [V0001077]	Domestic Airport	Domestic Airport			
22/1H/9/3,Bright Street, Kolkata kolkata ,West	83, Gate no. 3 C, N.S.C.B. INTERNATIONAL AIRPORT	83, Gate No. 3 C, N.S.C.B. International Airport Vip Road,			
Bengal,India(V0001077)	VIP Road,	Kazi Nazrul Islam Sarani, Dum Dum, Kolkata, West			
70 S S	Kazi Nazrul Islam Sarani, Dum Dum, Kolkata, West	Bengal, 700052			
	Bengal, 700052				
		GSTIN No : 19AAECT8193L1ZJ			
PAN No : ABLPI0471R	Cost Center Code: 90310034	Payment Term: 60% advance payment along with the			
Supplier GST No : 19ABLPI0471R1Z1	Cost Center Name : KOL IRISH HOUSE BAR	PO.			
Supplier Contact No : 9874287826	Project ID:	Balanced up to 40% payment will be released within 30			
Contact Person Name : SK Mohisul Islam	PO Category : Capex NSO	days after 100% work completion and submission of			
Supplier Email: rmenterprisesoffical@gmail.com	50-e1 (100)	final Tax Invoice.			
		PO Creation Date : 09/09/2024			
		PO Approval Date: 17/09/2024			
		PO Currency : INR			
		Buyer Name : Mrunal Joshi			

Sr. No	Item Code	HSN / SAC	Item Name	Item Description	Pur. Grp.	Qty	UOM	Basic Rate	Dis%	Net Rate	Total Amount	SGST %	CGST %	Gross Total Amount
1		9954	Sofa	Sofa	D01	1.00	NOS	299,000.00	0.00	299,000.00	299,000.00	9	9	352,820.00

Total Qty: 1.00

Total Basic PO Amount	299,000.00			
Total Other Charges				
SGST Amount	26,910.00			
CGST Amount	26,910.00			
Grand Total PO Amount	352,820.00			

Amount In Words: Rupees Three Lakh Fifty Two Thousand Eight Hundred Twenty Only

Remarks:

Standard Terms And Condition: Warranty: 1 Year

In Case of any defects or breakage during the warranty period, the said Item needs to be rectified or replaced within 15 Days

of Intimation at FOC (without additional charges).

Penalty: 5% Per week of purchase order value up to 100% of purchase order value will be levied to the supplier in case of delay in delivery from committed timelines.

Completion / Delivery TimeLine: On or before 27th September 2024

Mobilization Date:

Defects Liability Period: 1 year

Retention Percentage: 0

Escalation Buyer Detail						
Name	Mobile No.	Email - ID				
Mrunal Joshi	8399081380	mrunal.joshi@k-corp.in				
Binu Balachandran	000000000	binu.balachandran@k-corp.in				

Disclaimer:

Point 1: Unless informed to us it is assumed that you are not registered as MSME with the respective government authority. If you have not yet provided the MSME details along with proof kindly provide the same at the earliest. Alternatively once you get registered then provide us relevant proof to update our records.

Point 2: Supplier is requested to acknowledge or decline the order within 24 hours or else it would be considered as accepted.

ItemCode :

ItemName : Sofa

Itemin	anie						
Sr No	Item Code	Item Name	UOM	Remarks	Quantity	Supplier Rate	Amount
1	1	Single seater sofa Solid wood finish with Lacquer Polish finish all as per instruction and satisfaction of site incharge.	Nos		5.00	25,000.00	125,000.00
2	2	Double seater sofa Solid wood finish with Lacquer Polish finish all as per instruction and satisfaction of site incharge.	Nos		3.00	48,000.00	144,000.00
3	3	Centre table wooden	Nos		3.00	10,000.00	30,000.00
	_		11.00		299,000.00		

